1. The bottom of a fish tank is a square with edges 14 inches
long. What is the distance between opposite corners of the
bottom of the fish tank? Answers have been rounded to the

nearest inch.

[A] 20 in. 14in. [C]17in.'l_( [?]28in.
Y
. (l‘\

2. Use the Pythagorean Theorem to determine which three numbers

could represent thegides of a right triangle.
[A] 64, 72, 98 5, 72,97 [C] 65, 71,97 [D]64, 72, 96



3. Write v/28 in simplest radical form.

[A] 447 45 @ﬁ [D] 5.29

The numbers below represent the lengths of the sides of a triangle.
Classify each triangle as acute, right, or obtuse.

A, 42, 43,48 \g>—> \}i \'56‘
Obtuse,

0. 28 21.29
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Simplify each square root using simplest radical form—no decimals!

6. \//670\ 3 \/}T;\
415 ;’ \'rf?‘ ;54\3
s > 5%

Find the missing side of the right triangle using the Pythagorean Theorem. If your answers are
not whole numbers, write them 1 1n£_est radical tL'
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Find the missing side of each special right triangle. All answers should be in simplest radical
form. Be sure to rationalize the denominator if needed. I have provided the general form of each
triangle for you below.




Section 8-4: Sine and Cosine Ratios

SOHCAHTOA
Sind — leg opposite /A
hypotenuse
CosA — leg adjacent to /A4

hypotenuse



Find each as aratio. p 45 Q

SinP = B-q Cos P = L‘{Z)’- >

————

7| 4 R
SinR = E CosR—a'
A | G|

Why don't we write the SinQ and CosQ as ratios?

Find the value of x in each triangle to the nearest tenth.

2-C0501=X;12__ sinz7=lk
1. )} 27° )(

ye 16
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' :j6~l




Find the value of x in each triangle to the nearest tenth.

Find the value of x to the nearest hundredth.  _
. X=SIn 1 (%‘7?@
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